T=HMYYE-EK (S5 X)

X m H fx

AL 3

BIES X m % X2 X m % BIES X m %
1 ZRAX 14 N mX(13) 27 HiEET(10)
2 (1) 15 mX(14) 28 HERTE(11)
3 Fm(2) 16 S mEE(15) 29 HEwTEI(12)
4 S RI(3) 17 S (16) 30 | #HEETEA(13)
5 S R(4) 18 HEwTEI(1) 31 HiEwTEI(14)
6 S R(5) 19 HiE BT (2) 32 fiE T (15)
7 S X(6) 20 | #HEETE(3) 33 HiE T (16)
8 EmER(T7) 21 Hik T2 (4) 34 | HEETE(17)
9 mEE(8) 22 Hit T B (5) 35 HEwTEI(18)
10 ) 23 Hit T B(6) 36 fEETmE ()
11 mEE(10) 24 it E(7) 37 fE T mEE(2)
12 (1) 25 Hit T B21(8) 38 T mE ()
13 FmEE(12) 26 HiE T E(9) 39
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